
 

Thomas Randolph  = Juliana 
d 1262 

        

Thomas Randolph =  ? 

        
Nicholas Randolph 

        

Thomas Randolph, 1
st

 Earl of Moray = Isabella Stewart 
d 1332 
Musselburgh        

?  Randolph  = William Murray 
d 1332        

Adam, Lord of Kilconquhar (1) = Marjorie, Countess of Carrick = (2) Robert Bruce 
m bef 1266                                             d ca 1292                                                   b 1243 
d 1270     d ca 1304 

        

SEE CHART FOR ROBERT BRUCE, KING OF SCOTS 

        

Thomas Randolph 
2

nd
 Earl of Moray 

d 1332 

        

Agnes Randolph 
m ca 1320 
St Andrews 
d ca 1367 

= Patrick de Dunbar 
   Earl of Dunbar 
  b ca 1285 
   d ca 1368 
        

Isabel Randolph 
  = Patrick de Dunbar 

        

John Randolph 
3

rd
 Earl of Moray 

b bef 1317 
d 1346 
(1) = Eupheme de Ross 
     d ca 1387 

          = (2) Robert II 
                   King of Scots 
                       b 1316 
                       Paisley 
                       d 1390 
                       Dundonald 

                   = (1) Elizabeth Mure 
                                 m 1347 

        

Patrick Murray 

        
William Murray 

        


